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Exd-w\ Q vesEron

13 Alex wants to find out how many ducks there are in a park.

One day he puts a tag on each of 30 of the ducks.
The next day he catches 40 ducks.
8 of these ducks have tags on them.

(1) Work out an estimate for the number of ducks in the park.

%0 x 4o - IS0
?

Alex assumed that none of the tags fell off during the night.

(i1) If Alex’s assumption is wrong, explain how this could affect your answer to part (i).

(Total for Question 13 is 4 marks)

1806 wovlA therefore be an overest
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4

A local council has introduced a recycling scheme for aluminium, paper and kitchen waste. 50 residents
are asked which of these materials they recycle. The numbers of people who recycle each type of
material are shown in the Venn diagram.

Aluminium Paper
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Kitchen waste

One of the residents is selected at random.

(i) Find the probability that this resident recycles

b
(A) at least one of the materials, 1] 3/
(B) exactly one of the materials. I - = [2]
S SO
(ii) Given that the resident recycles aluminium, find the probability that this resident does not recycle ) 5
paper. 2 =,

Two residents are selected at random.

(iii) Find the probability that exactly one of them recycles kitchen waste. [3]
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The following shows the results of a survey on the types of exercise taken by a group of 106 fcpr(—c

65 run

48 swim

60 cycle

40 run and swim
30 swim and cycle
35 run and cycle
25 do all three

(a) Draw a Venn Diagram to represent these data.




